21114 LOT 1 N OF KRD

Point # 1 10000.000 10000.000
N 89 22 3 120.910

Point # 2 10001.335 10120.903
S 1 46 11 172.430

Point # 3 9828.987 10126.228
S 53 34 3 35.100

Point # 4 9808.142 10097.988
N 83 57 57 58.160

Point #5 9814.256 10040.150
N 1 57 3 86.530

Point # 6 9900.736 10043.096
N 23 27 57 108.210

Point # 7 9999.996 10000.006

AREA = 17,391.41 sf (.3993 acres)

LENGTH =581.34

NORTHING ERROR = -0.004

LINEAR ERROR =S 60 7 40 E 0.007

EASTING ERROR = +0.006



21114 LOT 1S OF KRD

Point #1 10000.000 10000.000
N 89 22 3 509.240

Point # 2 10005.621 10509.209
) 23 27 57 85.770

Point # 3 9926.945 10543.363
) 1 57 3 106.290

Point # 4 9820.716 10539.744
) 83 57 57 95.120

Point#5 9810.717 10634.337
N 53 34 3 26.620

Point # 6 9826.526 10655.755
S 1 46 11 214.000

Point # 7 9612.628 10662.364
) 89 50 36 653.140

Point # 8 9610.842 10009.226
N 1 21 26 389.260

Point #9 9999.993 10000.006

AREA = 232,950.65 sf (5.3478 acres)

LENGTH = 2079.44

NORTHING ERROR = -0.007

LINEAR ERROR=S 42 10 1 £ 0.009

EASTING ERROR = +0.006



21114 LOT 2 N OF KRD

Point#1 10000.000 10000.000
N 89 22 3 466.370

Point# 2 10005.148 10466.342
S 34 51 3 42.150

Point # 3 9970.558 10442.255
S 74 12 3 172.650

Point# 4 9923.551 10276.128
N 77 10 57 110.440

Point # 5 9948.052 10168.440
S 53 34 3 202.740

Point # 6 9827.650 10005.324
N 1 46 11 172.430

Point #7 9999.998 9999.999

AREA = 35,954.22 sf (.8254 acres)

LENGTH = 1166.78

NORTHING ERROR = -0.002

LINEAR ERROR=S 28 19 33 W 0.003

EASTING ERROR = -0.001



21114 LOT 2 S OF KRD

Point#1 10000.000 10000.000
N 89 22 3 135.320

Point # 2 10001.494 10135.312
S 1 46 13 425.760

Point # 3 9575.937 10148.464
S 89 50 36 636.200

Point # 4 5574.197 9512.267
N 1 46 11 214.000

Point # 5 9788.095 9505.658
N 53 34 3 209.270

Point # 6 9912.376 9674.028
S 77 10 57 104.750

Point# 7 5889.137 9776.167
N 74 12 3 189.800

Point # 8 9940.813 9958.797
N 34 51 3 72.120

Point #9 9999.998 10000.010

AREA = 217,670.39 sf {4.9970 acres)

LENGTH = 1987.22

NORTHING ERROR = -0.002

LINEAR ERROR=S 78 44 37 E 0.010

EASTING ERROR = +0.010



21114 LO0T 3

Point#1 10000.000 10000.000
N 89 50 36 653.140

Point # 2 10001.786 10653.138
S 1 46 11 353.920

Point # 3 9648.035 10664.068
S 89 50 36 655.690

Point # 4 9646.242 10008.380
N 1 21 26 353.850

Point # 5 9999.993 9999.999

AREA =231,519.03 sf {5.3149 acres)

LENGTH = 2016.60

NORTHING ERROR =-0.007

LINEAR ERROR=5 9 30 51 W 0.008

EASTING ERROR =-0.001



211141074

Point#1 10000.000 10000.000
N 89 50 36 636.200

Point # 2 10001.740 10636.198
S 1 46 13 353.920

Point # 3 9647.989 10647.131
) 89 50 36 636.210

Point # 4 9646.249 10010.923
N 1 46 11 353.920

Point # 5 10000.000 9999.993

AREA = 225,077.55 sf (5.1671 acres)

LENGTH = 1980.25

NORTHING ERROR = +0.000

LINEAR ERROR=N 89 18 51 W 0.007

EASTING ERROR = -0.007



21114 LOTS5

Point #1 10000.000 10000.000
N 89 50 36 655.690

Point # 2 10001.793 10655.688
S 1 46 11 353.920

Point # 3 9648.042 10666.618
S 89 50 36 658.240

Point#4 9646.242 10008.380
N 1 21 26 353.850

Point #5 9999.993 9999.999

AREA =232,421.17 sf (5.3357 acres)

LENGTH = 2021.70

NORTHING ERROR = -0.007

LINEAR ERROR=S 9 30 51 W 0.008

EASTING ERROR =-0.001



21114 LOT 6

Point #1 10000.000 10000.000
N 8 50 36 636.210

Point # 2 10001.740 10636.208
S 1 46 13 353.920

Point # 3 9647.989 10647.141
S 89 50 36 636.210

Point # 4 9646.249 10010.933
N 1 46 11 353.920

Point #5 10000.000 10000.003

AREA =225,077.55 sf (5.1671 acres)

LENGTH = 1980.26

NORTHING ERROR = +0.000

LINEAR ERROR=N 88 13 48 E 0.003

EASTING ERROR = +0.003



21114-LOT 7

Point # 1 10000.000 10000.000
N 1 21 26 W 353.850

Point # 2 10353.751 9991.619
N 8 50 36 E 658.240

Point # 3 10355.551 10649.856
S 1 46 11 E 353.920

Point # 4 10001.799 10660.786
S 8 50 36 W 660.790

Point # 5 9999.993 9999.999

AREA =233,322.80 sf (5.3564 acres)

LENGTH = 2026.80

NORTHING ERROR = -0.007

LINEAR ERROR =

S

EASTING ERROR =-0.001

9 30 51 W 0.008

7/26/2021



21114-LLOT 8

Point #1 10000.000 10000.000
N 1 46 11 W 353.920

Point # 2 10353.751 9989.070
N 8 50 36 636.210

Point # 3 10355.491 10625.278
S 1 46 13 353.920

Point # 4 10001.740 10636.211
S 8 S0 36 W 636.210

Point # 5 10000.000 10000.003

AREA =225,078.76 sf (5.1671 acres)

LENGTH = 1980.26

NORTHING ERROR = +0.000

LINEAR ERROR =

N 88

13

EASTING ERROR = +0.003

48 E 0.003

7/26/2021



21114-LOT 9

Point # 1 10000.000 10000.000
N 1 21 26 W 353.850

Point # 2 10353.751 9991.619
N 8 50 36 E 660.790

Point # 3 10355.558 10652.406
S 1 46 11 E 353.920

Point # 4 10001.806 10663.336
S 89 50 36 W 663.340

Point # 5 9999.993 9999.999

AREA = 23422494 sf (5.3771 acres)

LENGTH = 2031.90

NORTHING ERROR = -0.007 EASTING ERROR = -0.001

LINEAR ERROR =

S

9 30 51 W 0.008

7/26/2021



21114-LOT 10

Point # 1 10000.000 10000.000
N 1 46 11 W 353.920

Point # 2 10353.751 9989.070
N 89 50 36 636.210

Point # 3 10355.491 10625.278
S 1 46 13 353.920

Point # 4 10001.740 10636.211
S 8 50 36 W 636.220

Point#5 10000.000 9999.993

AREA =225,078.76 sf (5.1671 acres)

LENGTH = 1980.27

NORTHING ERROR = +0.000

LINEAR ERROR =

N 89

18

EASTING ERROR =-0.007

51 W 0.007

7/26/2021



21114-10T11

Point #1 10000.000 10000.000
N 1 21 26 W 824.950

Point # 2 10824.719 9980.460
N 89 50 36 E 318.450

Point # 3 10825.589 10298.909
S 1 25 21 E 824.980

Point#4 10000.864 10319.389
S 89 50 46 W 315.400

Point # 5 10000.006 9599.990

AREA = 263,035.99 sf (6.0385 acres)

LENGTH = 2287.78

NORTHING ERROR = +0.006 EASTING ERROR =-0.010
LINEAR ERROR=N 59 34 31 W 0.011



21114 -10T7 12

Point #1 10000.000 10000.000
N 1 25 21 W 824.980

Point # 2 10824.726 9979.520
N 89 50 36 E 425.550

Point # 3 10825.889 10405.068
S 1 25 21 E 825.000

Point # 4 10001.144 10425.549
S 89 50 46 W 425.550

Point #5 10000.001 10000.000

AREA = 350,988.68 sf (8.0576 acres)

LENGTH = 2501.08

NORTHING ERROR = +0.001 EASTING ERROR = +0.000
LINEAR ERROR=N 34 39 21 E 0.001



